13d

15

14

10

15

11

13b

Material
Plan Article Qty
P00052550 2085754 1
4 P00070955 2087754 1
5 P00070956 2087954 1
6 P00070970 2087800 1
13c 7 X002112 1001491 2
8 X005100 G116500 1
9 M6x10 1003658 1
10 M10x1 DIN934 1901345 2
11 P000027 1908428 1
12 M5x16 DIN912 1915415 2
13 Controller + Cable 2996008 1
13a nVR2 1919239 1
13b P00058002 2995870 1
13c P00058178 2995866 1
13d Heat Shrink Tube T001018 2x0,08m
14 M5x25 DIN912 2994906 2
15 M5 DIN127 2995288 2
— Plan No.

VERSO SE53 JOYSTICK ATTACHMENT

E00075959/B.1

Scale: 2.5 Drafted Verified Confirmed
Date 7/02/2024 16/02/2024 16/02/2024
Initials SD PM MK

\V
\\\‘\’/’
VERMEIREN
000,




